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(a) (atb)®=a®+2ab+b’
(b) (a+b)a-b)=a?-b?
(c) a*+b®=(atb)(a’Fab+b?)
(@ (a+b)*=a’+b’-3ab(a+b)
(e) a* +a’h? +b* = (a2 +ab+b?)(a’ —ab +b?)
(f)  (a+b)*=a*+b* +4ab(a® +b?) +6a’b?
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% b=1999x19981998 —-1998%x19991999 +1 - F b g o

(HKMO 1997/98 -7 ®l48)

* Xx=1998 -

b = (x+1) x x(10001) — x % (x +1)(10001) +1 = I

ffft 999990 666666 nik % e 2 fr o (SANO-J 2004)

By = 666666 % (1000000 -1)
= 666666000000 — 666666
= 666665333334 -
tHHfF 2 s 6x5+5+3x5+4 = 9x6 = 54 -
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Arr2 A = %t 93318379 ehd~ = T 2 s 93318379- 2779 = 93315600 -
(3£ : 93315600 =9660° - )

4 4 4

* a=2009 -
T 1* +a’ +(a+1)* 2a’ +4a® +6a” +4a+2
}El ;\4 it EY —
1 +a’ +(a+1)? 2a®+2a+2
_ a*+2a’+3a°+2a+1 _ (a*+a+1)?
a’+a+l a’+a+1
= a®*+a+1 = 2009% +2009+1
= (2009)(2010) +1 = 4038091

. 1999°-1997° -2°

1999x1997
3_RK3_A3 3 _RK3_A3
SR s a’—-b’-c _ (b+c)*-b’-c
ab (b+c)b
_ b®+c®+3bc(b+c)-b*-c®
(b+c)c
_ 3bc(b +c) _ % _ 6 -
(b+c)b
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% a-b=7+vJ22 > b-c=7-422 > £ a’?+b?+c?-ab-bc-ca i -

AN

c-a = -[(a-b)+(b-c)] = —[7+V22+7-422]
- -4
it = %(aZ—Zab+b2+b2—2bc+c2+c2—20a+a2)
- Jl@-b -0 +(c-a)]
- S22+ (722 + (9]
= %[49+14\/§+22+49—14\/Z+22+196]
= 338 = 169 o
2
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NenE kD ERAG R R T e o e 34T 5 E I
B Fli A+T7°=347 ; % 4o 8092 5 418 #K > F]15 90°-8=8092 - R
A 3125 F EAUE fioo A e 5 o

3126 = (3+1x2)° -

N

w

: % alb=ab+1:>¥ s=(1C2)+(3[4)-(5(6) » & s-
¥ o0s = (Ax2+1) +(3x4+1) —(5%x6+1)
= 3+13-31 = -15

10, 247G slie- fBATEE Do #H &5 xOy=ax+by+c > #¢
abc L ¥#ce ¢ 4 305=15> 407=28 > £ 101 i -

¥ 305 = 3a+5b+c = 15 (1)
407 = dJa+7b+c = 28 - (2)
(2) - ()= a+2b = 13 ---(3)
(3)*4 - (2): b-c = 24 ---(4)
3) - (4 a+2b-(b-c)= 11
atb+c = 11
1m = atb+c = 11 -
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| =19971999x19971999 - J =19991999x19971997 - |I —J| FE o

* b=89+899+8999+89999+899999 + F b HiE o
(HKMO 2004/05 -7 ®)4¢)

| 78° + 22°
s p= s 4 pe (HKNO 1984/85 s M4
¥ P g TP F )

_100° -64° -36°
64 % 36

A

v f g

40 EHTE abo 1Y azb o vk amb::+goﬁ,amams h

P

@ o (AMC 10 2005)

¥ % alb=ab+a+b-% 30x=27 > £ x hig -
(" MERD 47 fF g 2002)

¢ Jv 111111222222 = c(c+1) - & c =hig - (HKMO 2000/01 -7 ®48)

AT ] L AR R R
(a) 9413 (b) 199771 (c) 24682468

% a=1990x +1989,b =1990x +1990,c =1990x +1991 > F
a’+b*+c?-ab-bc-ca g o (I ¥ 4 #HFH 1990)

F ox-y=1 > xX'—xy*-xPy-3x°y+3xy? +y* g o
(Y W x4 ¢ ﬁx?%ﬁi% 1991)
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(a) (1, 4, 7, 10) (b @G, 3, 5 5) (c) (7, 8, 9, 10)
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(a) (1, 2, 3, 8) (b) (2, 5 6, D (c) (4, 6, 8, 12)
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1. % x=1999 > p | =[10000(x - 2) + X] x[10000(x - 2) + X]
= 10%(x-2)? +2x10% x(x - 2) + X*
% J =[10000x + x] X[10000(x - 2) + (x — 2)]
= 10°x(x — 2) + 2x10*X(x — 2) + X(X— 2)
1=3[=3-1 = 10°[x(x — 2) — (x — 2)] +[X(x — 2) = X?]
= 10°(2x - 4) — 2x
= 399400000000 — 3998

= 399399996002
2. b = (90-1) + (900 -1) + (9000 —1) + (90000 - 1) + (900000 - 1)
= 999990 -5 = 999985

2 _ 2
s, - (BrREE-Tex2v22h L,
782 - 78x 22+ 22

- 100
3 _ap3 _ o3
o e - (644397 -64 -3
6436
_ 64°+36° +3x64x36x (64+36) ~ 64° 367
6436
| 3xeAx3x100 | o
6436
5. @003 - g3 - (o3 - ot
1-2 ~3-3
= OO
6. 30x = X+3+x = 27
4x = 24
X = 6 -
7. 111111222222 = 111111x1000002 = 111111x(999999+3)
- 333333x(333333+1)

’-"“i‘,l‘]‘ CcC = 3 o

Fofl |\ 209 ) R02 9K http//aoodprimes.eus.org/ 6




(a)  94[13
7
9 41 3
8 1 °
1313 —
187
1 30 9
4
#Er2 9413 T TR A L 9T o
(b)  19/97|71
4 4| 6
19/9 7|7 1
4
16
4
39 7
8 4
313 6
4
6 17 1
8 8 6
5 31 6
8|5 5
“Fr0 199771 e % FUNF A 5 446
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(12-6)x(8—4) =24 (6—1742)x8= 24
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9. d 2% (a-b)’>=a’-2ab+b*> F32t (b-c)®> =b’-2bc+c® %
(c—a)’=c*-2ca+a’® - 3 = ;N4 ¥
(a-b)?>+(b-c)*+(c-a)® = 2a’ +2b* + 2¢* — 2ab - 2bc - 2ca
S0l = %[(a—b)z +(b-c)? +(c-a)’]
¥ a-b=(1990x +1989) - (1990x +1990) = -1
b - ¢ = (1990x +1990) — (1990x +1991) = -1
c—a = (1990x +1991) — (1990x +1989) = 2
o b
i st - G R CN
10.  Rsi = X( = y*) = y(¢ = y*) = 3xy(x - y)
= (x=y)(X* = y*) =3xy(x-y) = (x=y)(X* = y* =3xy)
= (x=Y)[(x= Y)(x* + xy + y*) = 3xy]
= X Hxy+yt -3y = X e2yy
= (x-y)* = 1
1. (a) #=#®HEx: (7-1°)x4=24
(b) 2% 5x5—§=24
, 8x9
E3 %% =24
(0 =% 10-7
12.  (a) ##®E%: (1+3)x(8-2)=24 (1+3+8)x2=24 12:24
1_f
3
8x3x(2-1)=24 (8-3)2-1=24 2% 4 8=24
(b) ##H %% 2x6+5+7=24 (7-5+2)x6=24 2"°x6=24
2
62-7-5=24 52 _7+6=24 @:m
(¢) @##E%: (4+6-8)x12=24 12+°°8-04 182x::24

(1—62)4 +8=24



